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Who framed the ‘Test qf .Crgatlve
Thinking’ to identify creativity .
(1) Merrifield  (2) TorranC
(3) Coleand Bruce(4) Kent

Thorndike's theory fallg unger which
of the following categories

(1) Behaviouristic theory

@) Cognitive theory

(3) Psychoanalytic theory

(4) None of these

Learning curves are indicator of

(1) Progress in learning

(2) Originality in learning

(3) Dynamic character of leaming
(4) Creativity in learning

Social Learning Theory of Personality
was given by

(1) . Bandura & Walters

(2) Dollard & Miller

(3) Carl Rogers

(4) Jung

Mirror Drawing Test 1s used to
measure which of the following ?
(1) Personality (2) Intelligence
(3) Learning (4) Morality

is one of the measures of
central tendency.
(1) Range
(2) Median
(3) Average Deviation
(4) Standard Deviation

Find the odd one out amongst following.
(1) TAT.

(2) 16-PF

(3) Cloud Picture Test

(4) Draw-a-man Test

The concept of Developmental Task
was proposed by

(1) Hollingworth (2) “ Havighurst
(3) JeanPiaget (4) Hall
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LANGUAGE-2 ENGLISH

for ENGLISH as LANGUAGE — 2.
61.

62.

63.

64.

65.

66.

67.

68.

Which of the following sentence 1s in
the Passive Voice ? L
1Y He was made to surrender  his
%passport. o - h

(2) They feed the lions in ™€ 200
twice.
{\Vjelly-fish stung her.

e will not admit children under

sixteen. .
Tick the figure of speech 1n the
following sentence.
Cocks crow cock a doodle do.
(1) Oxymoron  (2) Onomatopoeia
(3) Metaphor 45 Simile
Point out the correctly spelt word :
(1) Hamorrage (2) Haemorrhage
(3) Hammerage Y4)-Hammarage
Point out the meaning of the following
roverb : N
very cloud has a silver lining.
(1) Clouds are never without a silver
lining.
(2) There is a positive side to every
unpleasant situation.
(3) There is no hope in an
unpleasant situation.
(4) Clouds always have white lines
in them.
Point out the word which can be
substituted for the given sentence :
The act of killing one’s wife.
(1) Genocide (2) Uxoricide
(3)" Canicide (4) Avicide
Select the Adverb of place.
(1) Almost (2) Agra
(3) Here . (4) Japan
Which of the following combinatjon is
found in the structure of English
language ?
(1) Subject-object-verb
(2)_-Verb-object-subject

3)
4

+(3). Subject-verb-object

(4) Object-verb-subject
Point out the portion having a ngjstake :
The poors are always helped by them
A - B C
who are kind and generous
D

(1)-A ~(2) B

3C @D

N

\

€ opted

69. Feminine of ‘Hart’ js
(1) Filly. ) Sow ¢
(3) Roe - U4 Goo
70, late he is askilied g yorker
Fill in the blank rker.
(1) But (2) Though
(4) Unless

é})f Since
71. “Call the first witness” said the judge.

Convert to reported speech.
L-(1) The judge commanded them to call
the first witness.
(2) The judge asked them to call
witness first.
(3) The judge told them to call first
the witness.
(4) The judge.asked them to invite
the first witness.
72. Give one word substitution for the
following : -
A hater of women.
(1) Misanthrope ¢2) Misogynist
(3) Mercenary (4) Philanthropist
73. After reading a story on fish, if a
teacher ask children to answer -
“Imagine you are fish in a pond. What
do you see around you ?” This is an
example of
(1) Multiple choice question
(2) Comprehension question.’
(3) Close type question.
(4) Open-ended question
‘Prediction’ as a subskill is associated
with
(1) reading (2) drafting
(3) summarising  {4) note-making
75. Which method is known as natural
method ?
(1) Direct method
(2) Grammar translation method
(3) Translation method
(4) Bilingual method
76. , ‘Operation Black Board’ is for
(1) Primary schools
(2) Middle schools
(3) Secondary schools
- (4) Convent schools
77. Diphthongs are known as
(1) Pure vowels
(2) Semi vowels
\@> Vowels with weak sounds
(4) Vowel glides

4.


Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

BPRI. 9) ‘sJower’ in thYC
Distons Rest e gvep stz | 82, 1y ntrined W 56
. at tollow (Q. No. 78 to 84) b is
slecing the mostapproprateopion - (hNam @Y
e ext ot ve
the changes takinreme]y concerned about (3) Adjective &

g place in our climate.
The changes are said to be alarmin ly rapid

and the result of humap activity whereas in

the past it had been natural and much

slower.a’Ig; rsmtacj)otr)eproblem is that the
. i warming u
warrmngg. This is occurring alt) (ag 122?;
unprecedented in the last 10,0 years. The
Implications are very serious. Risin
temperatures could give rise to extremely
high increase 1n the incidence of floods and
droughts, having effect on agriculture,
It is thought that this unusual warming of
the Earth has been caused by greenhouse
gases, such as carbon dioxide, being
emitted into the atmosphere by car engines
and modern industrial processes. Such
gases not only add to the pollution of the
atmosphere, but trap the heat of the sun
leading to the warming up of the planet.
It has been s?gested that industrialized
countries would try to reduce the volume
of greenhouse gas emissions and plant
more trees to create ‘sinks’ to absorb
greenhouse gases. .
78. The changes taking place in our climate
have become
(1) a matter of celebration for the
scientists.
¢2) a matter of worry for the scientists.
(3) something that does not have any
serious implication.
(4) something to be whiled away by
the scientists.
79. The ‘antonym’ of the underlined word
‘increase’ is
(1) increment (2) reduction
(3) smaller (4) rapid ’
80. The climatic changes taking place today
are different from earlier changes as
(1) Today they are slower and more
natural.
\{2)" Today they are much faster and
caused by the humans.
(3) Today they do not threaten the
humans because of their speed.
(4) Today men are affectqd by them
easily.
81. Increase in global temperatures may
result in
(1) rains
\(2¥ destruction of crops™
(3) death of animals _
(4) along period without rains

. ouse gases refer to
» g;eil:;lissiongof gases by the cars alone.

(2) -emission of gases by the
industries alone. h
(3) trapping of heat of the sun by the
increasing temperatures alone.
(4) carbon dioxide being produced
from any source. L
84. The underlined word ‘sinks’ in the
passage refers to
(1) absorption of greenhouse gases by
industries. o
(2) reducsion of greenhouse gas emissions.
(3) industrialized countries. .
\_~(4) the plantation for absorbing
harmful gases.

85. Who plays the part of the fool in The
Merchant of Venice 7
(1) Tubal ‘(2) Launcelot Gobbo
"(3) Lorenzo (4) Gratiang
86. What form of poetry is “La Belle Dame
Sans Merci” ?
(1) Lyric (2) Ballad
«(3) Sonnet (4) Ode
87. “The Light of Asia” was divided into
cantos.

(1) four @Y six
(3) seven (4) eight
88. In which of Shakespeare’s plays are the
following lines
‘The quality of mercy is not strained.

It droppeth as the gentle rain from
heaven.’

(1) Romeo and Juliet
&) Macbeth
£3) The Merchant of Venice

(4) A Midsummer Night’s Dream
89. Which of the following is a short

musical poem expressing the poet’s

emotion ? )
(1) Lyric (2) Sonnet
(3) Idyll (4) Ode
90. Tick the correct option to complete the
sentence :
The Prime Minister held

(1) a press conference at airport.
<) a press conference at the airport.
(3) press conference at the airport.

(4) press conference at airport,
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over the last part of OMR Answer Sheot nlong with the Question Booklet 1o the ¢andidste whils loswing the
Examination Hall,

7§ it W A we o ot A e WA e e T % U seed) v ofever fm oM S T & Wi 62
aher 3 /1 ) i = whm oMR 77 ws w s wer et st o wa she & wee we &
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L A (%) / PART -1v (A)
firsT W MR / SCIENCE & MATHEMATICS — e 71
TREATH! FATRRE W & WY1 3 ST Haet Al & a1 Iy A 6 hey have opted for
Candidates should answer questions from the following part only if ¢
SCIENCE & MATHEMATICS. : ¥
2 determines
91. YR FEH W it weed & 91, Magnetic Quantum number
(1) T 31[1'{:1;(1 (1) Shape of orbitals Gl
(2) = & A= (2) Orientation ol e bital
(3) U FF F WO FoA (3) Total energy of an orbl
(4) TF TEEA H T (4) Spin of an electron
92. T (X fords et 2 S Bl & 7 92. Scurvy is caused due to deﬁcieqcy ;f
(1) Ffmp () fafEk (1) ViaminD  (2) Vitamin
@) fefmc  (4) Febma (3) VitaminC ~ (4) Vitamin A
93, THAFHIEA FAE? 93, Which one is weak acid ?
(1) Fewrdes @ (1) Citric acid
(2) =i afas @) Nitric acid
(3) THRT e -/ / (3) Sulphuric acid
(4) TR UEE Eﬁ (4) Hydrochloric acid
94, fom awfd 3 sige =t vewm % o 94, Which scientist was developed ‘key’
et (Key) fasfan fmar ar 2 for igenstf;i?:;tii;n G?A:i:alg;d >
(1) e ) = (1) Goethe (2) Cuvier
(3 =T (4) Framrew (3) John Ray (4) Theophrastus
95. ot L well 1 HiE v A ¥ 95. Seedless fruits are of no use in 1
() FemE (@) == (1) Coconut  (2) Tomato
(3) e d 4) FIRH (3) Banana (4) Grape
96. U % W W B € 96. Fibres of .
(b s g Doy
(2) = Ty & @ Cayx
(3) @ e d (3) Seed coat
(4) et e (4) Fruit wall
97. Wm-wie ®t ey FEE ® WW Ww 97. Silk i . i
BT g ? silm,:z;':f?ﬂmﬁd from which stage of
. (1) e (2) = (1) Egg -
3) & (4) @@ (3) Ad (2) Pupa
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99.

1“{'-

101.

102.

24

(3) Y59 H UH Al R
(4) Toar 4 uw sifafEa g

forer # @ e O o Ty fe o a3
T W Gord & 2

(1) aeeet (2) FwH

(3) TEFH 4) anfes
TERTeT-HeeravT i fehar i fee wedim
G 9 & 2

(1) CO,+H,0-CH,0+0,

(2) 6CO, + 12H,0 = CeH .0, + 60,
+ 6H,0

(3) 6CO, + 6H,0 — CﬁHuOﬁ + 60,
(4) CgH,;,04+ 60, — 6CO, +6H,0

(16)

98.

99.

100.

l“lv

102.

GET IT ON
Google Play

;g i UPRI
Vivipary germinations are found jp,

(1) Agquatic plants
(2) Xerophyte plants
(3) Mangrove plants
(4) Shrubs

~HIV mainly infects

(1) Cytotoxic T-lymphocytes
(2) Helper lymphocytes

(3) Killer lymphocytes

(4) Cell mediated T-lymphocytes

Down’s syndrome is caused due to
(1) monosomy of 21* chromosome
(2) trisomy of 21" chromosome
(3) an extra chromosome in male

4)

an extra chromosome in female

Which one- of the following plants
keep its stomata open during the
night and close during the day ?

(1) Water-lily (2) Cactus
(3) Cycas (4) Orchid
Which equation shows the reaction

of Photosynthesis ?
(1) €CO,+H,0—->CH,0+0,

(2) 6CO, + 12H,0 — CH,,0, + 60,
+ 6H,0

(3) 6CO, +6H,0 — CH, ,0,+ 60,
(4) CgH[,04+ 60, — 6CO, + 6H,0
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103, RerT Preet vt 5 ot &

(1) @& 95 § mit feww S
AT T | .

(2) UF R # Sge fewwr Feedt @
=49 =TT

Q) ™ TR F sfuw wemw fwor
T ST ST ST |

(4) U= = T |

104, I |1 TR &0 T H T E 0
(1) w&oT e (2) €A
(3) TE-WH (4) faveigo
105, TR-F=AT § wad veet 7o fuifa R
ST E 2
(1) ¥
(3) we-aE]

106. v % fordt fase =1 qran €
(1) =T (2) . aTTaEa
(3) &=H (4) stwea

(2) woTEt
(4) e

107. qmmmﬁaﬁﬁﬁm%
(1) =1t wrdieln 1 3

(2) Fmg

(3) THEst | s

(4) e T
108. ¥ @ # faed 50 °C ¥ |
. mmmmﬁuﬁﬂﬂﬁ

(1) 50K (2) 33K

(3) 122K @ 10K

amn
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103, The peaning of unification of
teaching skills is ‘

(1) To use all teaching ski
lesson. . _
To choose proper teaching skills
in one lesson. i
To use more helpful teaching aid
in one lesson. .

None of the above.

lls in oné

(2
3)

-4

104. Which of the following is not

included in affective aspect 7 _.
(1) Receiving (2) Organisation
(3) Valuing (4) Analysis

105, The first thing which is consider in
lesson plan 1s
(1) Objective

(3) Syllabus

(2) Pattern
(4) Home-work

106. The values of Science for nature is

(1) Possibility (2) Reality

(3) Interim (4) Uncertainty
107. The quality of creative students is
(1) Lack of flexibility
(2) Anxious
(3) Unaware about problem
(4) Lack of intelligence

108. The change in temperature of a body

is 50 °C. The change in temperature

on the Kelvin scale is
(1) 50K (2) 323K
(3) 122K 4) 70K

£4
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Adde

109.

110.

111.

112.

113.

114.

H A o o PR g
T ol 3 3 & T B o

11

) ﬁ.m (2) j“m’m
1

(3) 63 (4) &3

frelt g o iy I v T A F
(1) veT @) veT

1
4 V“ﬁ

ot ST W W ¥, ST Fehr
qeI €

(1) g}
(3) ST A B H

m FEHE % TH 01 B GAT p ¥ |
TS TS ST e ,
2) pPm

(1) mp
(3) p¥m @) p*2m

Y e Tt et whRiye arR & fat
F1 fovarar Fae @ W AR ®§ S

T SFHHAT B
1) e @) ﬁ

@) e?

1
(3) veq

(2) 9 H A
(4) &Y ST H

® :
AitTer fae uiom Svar &
A o—
13-—-——7_Y
(1) ANDER®F  (2) ORIRS
(3) NOT&R®  (4) NAND 3”&

(18)

109

110.

. Three wire of resistance

GET IT ON
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iy
2 ohm and 3 ohm respectivel
connected in parallel. The equi\?’a]::‘;

resistance of the circuit jg
6
M jrobm ) g,
1
(3) 6ohm 4) 6 Ohm

The relation between speeq of sound

~ (v) and absolute temperature (T) i, a

111.

112.

113.

114.

gas is
(1) veT (2) veeqT

1
4) voa—=
4) v ‘\ﬁ'
Total internal reflection is possible
when light travels from
(1) airtowater (2) air to glass
(3) waterto glass (4) glass to water

1
3) ve<m

The momentum of particle having
mass m, is p. Its kinetic energy will be
(1) mp (2) p’m

(3) p*m 4) p¥2m

The potential difference across a

conductor of resistivity e is constant.
The heat generate in the conductor is

directly proportional to
L
1) e (2) 5
1
@r—= @) ¢

The given logic symbol represents
A -—-——j_
Y
B ey
(1) AND gate (2) OR gate
(3) NOT gate (4) NAND gate
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115.

116.

117.

118.

119,

24

2 T s w1 o fave foem dfa
7 W 10 "X §F0e-! & WRisE a9
2 7@ fewm & nfemm &, v ox 10 =7
o UHENH Tt I e | i o &,
2 ¥FUE 915 FvE 1 Faw & Em
(1) 10\2 %8 g & 45° I

@ 1\2 3 g F 450 or

(3) 20! & T ik

(4) 20%R-! ofyem =t o

A & T B e e
(1) Fe (2) Ni

(3) Mo 4) Pt

f=r d @ st famt A
T & o W9 e A & 2

(1) C,Hg (w&)

(2) C,H, (it

(3) C,H, (i)

(4) CyHg (R

128 7 SO, ¥ Hier T @A writ

(1) 1 wier (2) 29w

(3) 34 (@) 49
Fe(CO), H &t &1 ATRAS0T TE
g

() 0 (2) 2

3) 3 @) 5

(19)

115.

116.

117.

118.

119.

3 3
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Y
kg is moving ﬁz a
ith 1
smooth hori zontal surface m::a;t
" 1 1ﬂ'ﬂg .
velocity 10 ms™—  #UH= oth
unifng force of 10N towa{:ﬂ: nf?nal
is applied on the bod 2 il e
velocity of the body after S
(1) 10y2 ms!at 45° North of )
(2) 1032 ms™! at 45° south of Eas
(3) 20 ms™! towards East
(4) 20 ms~! towards West
The catalyst used in Hydrogenation
of oil is :
(1) Fe 2) Ni
(3) Mo “4) Pt
Which of the following gives white
precipitate, with amonical silver
nitrate solution ?
(1} CzHa {Ethaﬂﬁ}
(2) C,H, (Ethylene)
(3) C,H, (Acetylene)
(4) C;H¢ (Propene)
Number of moles in 128 gm of SO,
will be

(1) 1 mole (2) 2 mole
() 3 mole (4) 4 mole

The oxidation state of Iron in
Fe(CO); is

(1 0

A body of mass y

(2 2
@ 3,

120. 5 ¥ et w2 ¥ 6w ®F @ 120. Compound responsible for temporary
it SwEmEr €9 ' hardness of water is
(1) Mg(HCO,);, (2) CaCl, (1) Mg(HCO,), (2) CaCl,
(3) MgSO, (4) CaCoO;, (3) Mgso, (4) CaCO,
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Y .2 1 (20) o
1 1N~ |4 : 1 <2 b
121, | (& '”‘ﬂ“"" . Th [(-— N3z,
Ak [s(shzf’ s 1k Thevaloeiol |sg o] | s
' o 4 B (ol R |
) 5 @ { EB; o ) 5:
@ 5 ﬁ{ggwm o, 122. The price of petrg] A 3
122. = Fi0d 25% | g Increased by 259
Etﬂ‘ﬁﬂ' o7, 795 [T I 3 et ?mnmlm::gmm&: on petrol should
e wE (1) 25% oy e travel by
w2 Q2 ® 1% @ s
l -
- 3 ABCD 3 R AC 3 BD 123, Theld:agﬂnals AC a{uj BD of 4
2 e E | o parallelogram ABCD intersect each
g W Ry 0 W h other at the point O. If ZDAC = 320
gmg = 32%, £ZAOB = 70° t9 ZAOB =170°, then ZDBC is equal to
£DBC =1 A1 (1) 24°(2) 86° (3) 38° (4) 32°
(1) 24°(2) 86° (3) 38° (4) 32° 124. Tt is proposed to build a single .
124, UF SEER T TN S WA 5 ST & circular park equal in area to the sum
foreT £rte 9T 16 m SR 12 m =W of areas of two circular parks of
3 5 TR T & Sl o AIT o aEt diameters 16 m and 12 m. The radius
¥ | U W ST of the new park would be
(3) 20m 4 24m , (3) 20m 4) 24m
125. i s e remt ISR g B 125. An edge of a cube measures r cm. If
ot 71 | 93 o0 T 9% I ST the largest Pﬂﬂf}iﬂ‘? ﬁgt:: ;im“tllif‘.
= - 3 : cone 1s cut out o 1S cube, then '
€ lwzﬂ (em i?% volume of the cone (in cm?) is
M s @ = W) g @ 50
s A 2
3 3z @ 37 3) %mﬂ @ %mﬂ
jﬂﬂ L .
L2 ;ﬁm 14 3 s e o 3t Y 126. If 13 is divided by 14, the
remainder is
g; " Eﬁ; 131 - 1 13 @ 12
1 3) 1 @ -1
127. Wx=3+\BAAS + FHAY * 127. If x=3++/8, then value of +%is |
(;; f;g (2) 198 1) 216 (2) 198
( (4) 261 3) 192 4) 261
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128. 2+ 312 x + 4 F s ¥ .

129.

130.

131.

132.

133.

134.

D) (+232) (x\2)
@) (x+232) (x+42)
3) (x-22) (x+\2)
@ (x-22) (x +12)
ﬁaﬁmow?.%i?ﬁ;ﬁ
mlmﬁﬁtﬁ,a‘fm@tjﬁﬂ

(1) 618TdM () 1224 a7 Wk

% 2448 =t |+t né?; 1242 =7 Qs
T T w afewnior 18° ¥,

?ﬁagga%agglrﬂ;fa%‘é@r%:

(1) 10 2) 15 (3) 20 (4) 30

g (-7, 2) Hy-smAh ¥

(1) 9TE ) /517
(3) 7w @) 2%
T 3 o H WO T SAEA 462 &t

e & | At s A,
ﬁmﬂmﬁmﬁ%aﬁnﬁ;ﬁ

.\

faul

(1) 639TFJ (2) 539 & &Y
(3) 439T ¥R (4) 60057 i
11 ¥t x 4 I, T SAHR VR F THS
H AgaR fa T ea & TH o SR 4
[t T ST ST &, S S SGa B
(1) 37598  (2) 38.5 57wt
(3) 3588 qd  (4) 28.5°T

@t x +2y-3=03R2x+4y+11=0
FHUE :

(1) THFW H P E |
(2) THIH H G € |
3) THETWFHTARE |
(4) TR H TS |

(1)

128.

129.

130.

131.

132.

133.

IM‘
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Factors of X + 3‘\[2-1"*'4 are
(1) (x+ 2\/5) (x -\ﬁ)
@) (x+2\2) (x +42)
3 (x-22) (x=2)
@ -7+
Two adjacent _ sides -
parallelogram are 74 cm an thexi
If one of its dia%o?als ;:n 1122 cm,

elogr.

e S saem  (2) 1224sq.cm

3) 2448sq.cm (4) 1242sg.cm
Ef )each exterior angle of a regular
polygon is 18°, then the number of

sides of the polygon is
(1) 10 2) 15 (3) 20 (4 30

The distance of the point (-7, -2)
from y-axis is

(1) 9 unit (2) /51 unit
(3) 7 unit (4) 2 unit

A solid cylinder has total surface
area of 462 sq.cm. If its curved
surface area is one-third of its total
surface area, then the volume of the
cylinder will be

(1) 639 cm? (2) 539 cm?

(3) 439cm? (4) 600 cm3

A rectangular piece of paper
Il cm X 4 cm is folded without
overlapping to make a cylinder of
height 4 cm, then the volume of the
cylinder will be

(1) 37.5cm? (2) 38.5cm3
3) 35.8cm? (4) 28.5cm?
The graphs of lines x + 2y -3 =0 &

2x+4y+11=0

(1) intersect at each other

(2) coincide with each other

(3) are parallel to one another

(4) are perpendicular to each other |,
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135, (dyy qemwat H TR@ 2005 3 @

136.

137.

138.

- 139.

e TR T S &
(1) iﬂﬂT'ﬁﬂEﬁ
(2) W FEAR
3) fam Faw
(4) woit fam & =)

wforer fereror # s fafir GRT & et
@

(1) e | e 3 3

(2) =g 4 fafere =t it

(3) T ¥ 1 Ft

(4) 373 | T Y AW

et o= ol & g F (j) vidfas
T TS G ¥ 1 (i) TF T gAn
IS e & 1 (i) F e S IS
Tt € enen faadla oot ettt & |

(1) (i) =TT |

(2) (iii) T T |1

(3) (i), (i) =9 (iii) ™ A E |

(4) (i) e & 9 (i) T4 (iii) WA E |
I weETg gt %1 swet ‘a’ e e

FaE b’ &, ?ﬁrb;z%

M 3 ® 5

3) 3 @) 3

T ol # 10 9e9 € | 3 wow wwd
TH ¥ ¥ad TF 9K oY oo & a
o1 fored = 3ot e

(1) 105 (2) 55

(3) 45 (4) 9 9 Fg T

135.

136.

137.

138.

139.

GET IT ON
Google Play

- ' P .
National Curriculum Framewmklflzug;

the sequence of Mathematjcg is
(1) Before language

(2) After language

(3) After Science

(4) After Social Science

Inductive  method i
Mathematics we pmceegffm::acmng
(1) Abstract to Concrete

(2) General to Specific

(3) Known to Unknown

(4) Unknown to Known

In a pair of adjacent angles (i) Vertex

is always common, (ii) one arm is
always common and (iii) uncommon
arms are always opposite rays. Then

(1) (ii) is false.

(2) (i) is false. -

(3) All (i), (ii) and (iii) are true.

(4) (i) is false, but (ii) and (iii) are true, -

If area of an equilateral triangle is ‘a’
: 2
having height ‘b, then b; 18

1 1
M3 OBy
3) 3 4) 3

There are 10 persons in a party. If-
each one of them shakes hand with
others exactly once. The total
number of handshakes is

(1) 105 (2} 35

(3) 45 (4) None of these
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(1) 55
(3) 155,

141, UF =i ST IOt g 5 e et
¥ WETeHR | o7 & | ofit & o o @

1
nﬁm;ma@qﬁ%qﬂaﬁﬁ

w5 & 1 v @ Feedt o &
T I T /4 e 2

1 2
M3 @3 ®% @ 3

5“+3—6>(5"+l
9x5"-22x5"

1 91 @) 19 (3) 10 (@) 1

5 . .
13 Jo+ a5 o -5 ik

1 1 1
M3 @3 @5 @7

142.

144, v St 3 e € 410 o wEe €
3 3] FraEl @ gaE Hed WS
¥ | U d I 15% 1 A T g H
10% 1 &ft et & | JFT et o 59

T §
(1) ¥110,3260 (2) ¥120,3290
(3) 7180,7230 (4 7% | FE T

140.

141.

142,

143.

144.
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Y
A horse is tethered to a stake by a
rope of 30 meter long. If the horse
moves along the circumference of a
circle keeﬁmi rope tight, find that
how far the horse have gone from
Initial point if the rope has traced an

angle of 105° at the centre ?
(1) 55m (2) 55m
(3) 155m (4) 25m

A man and his wife appear for an
interview for two posts. The
probability of husband’s selection is

1
% and that of wife’s selection is 5

What is the probability of only one of

‘them will be selected ?

2

1
nio?etes

5n+3_6}(5n+] ;
gx 50 -22x5n :
(HhH 91 (2) 19 3) 10 @@ 1

5
\JO + 435 -\9- 4[5

1 1 1 1
My @3 O35 @y

is equal to

A man buys two books at ¥ 410 and

.sells both at same price. One gives

him a profit of 15% and another a
loss of 10%. The cost price of both
books is

(1) T110,3260 (2) T120,3290
(3) ¥180,3230 (4) None of these
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146.

147,

148,

149.

150.

eY

Prerifir & 2 1 W HA TR &
i 1/2 1 113 1 1/2 13
o) >G of <@
1 172 1/3 )
(3)_@ = %) (4) 8 ¥ FH
12 90T T o W e W@ e ¥
B 3T Tad Neqvr 1 7 B 14 37
15 & | Tow 12 eyor ) wiad it
(1) 29 (2) 14.5
(3) 15 (4) T QIS
I WER /oW & g = T
Fiw =t fF 15 @ 17 W = R
9 Tt 2 ekt wrerd Aot HHL F HY H S
T E |
(1) 902 (2) 800
(3) 814 4) FHY BT
UF T ae, fgE e | | A9 15
fert /e, &, a3 Tt 36 feeidiex s
3 T T YT 19 3 H 5 "l
W W E | W NER (9 T
Ffe | B
(1) 5 v, (2) 10fFe,
(3) TT W W I (4) 3 fie,
o ke wEme #oam 8 ¥ 1 3

8
asrzﬁw-]-s-%l
(1) 3,5 ) 6,2
3) 4,4 (4) ¥¥ F FiE @
T ot JEmat @ g 5 : 6 ¥ e
;?FﬂH.C.F. 12 & 1| 57 Fe&msit =1 LCM
(1) 60
(3) 180

2) 72
4) 360

TR F T HIAG Tl b bl

(£4)

145.

146.

147.

1 48.

149.

150.

(1) 60
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Which of the fullnwing stateme:ﬁ?l

true ? -
173
o @0 @@

1 112 113
() (E) = (EJ (4) None of these

QOut ﬂf: 12 ﬂbservatiﬂns arranged in
ascending order, the sixth gnq
seventh observations are 14 ang |5
respectively. Find the median of aj
the 12 observations.

(1) 29 (2) 14.5

(3) 15 (4) None of these
Find the least number of square tiles
required to pave the floor of a room
I5 m 17 cm long and 9 m 2 cm
broad. :
(1) 902 (2) 80O

(3) Bl4 (4) None of these
A motor boat whose speed is
15 km/hr in still water goes 36 km
upstream and comes back to the
starting point in 5 hours. Find the
speed of the stream.

(1) S km/hr

(2) 10 km/hr

(3) Can't determine

(4) 3 km/hr

The sum of two natural numbers is 8.
Determine the numbers if the sum of

their reciprocals is %

1) 3.5 (2) 6,2

(3) 4,4 (4) None of these
The ratio of two numbers is 5 ; 6 and
their HCF is 12. Their LCM is

2y T2

(3) 180 (4) 360

T %4 % g 971e / SPACE FOR ROUGH WORK
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